C:h Checking Division Answers Name:

Check each answer. Determineif theanswer is'correct' or 'not'. Answers
7 Division problems can be 263+ 8=3217 182+ 6=2915
checked by multiplying the 30 29 1
guotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2,
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1 % WIE
1) 694+3=231r1 2) 122+3=40r2 4
5.
6.
3 956+7=136r4 4) 288:7=41r4 !
8.
9.
10.
5 347+8=43r3 6) 134+4=33r2
7) 743+3=9217 8) 638+7=91r2
9 978+5=195r3 10) 754+4 =188
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
7/ Division problems can be 263+ 8=3217 182+6=29r5
checked by multiplying the 30 29 1 correct
guotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2, correct
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 % WiE correct
1) 694-3=231r1 231 2) 122:3=4012 40 4 ___ hot
x 3 x 3 5, correct
693 120
+ 1 + 2 6. correct
694 122 ;
Nno
3 956:7=13614 136 4 288:7=41r4 41 !
x 7 x 7 8. not
952 287
+ 4 + 4 0, correct
- 956 201
10. not
5 347+8=43r3 43 6) 134+4=33r2 33
X 8 X 4
344 132
+ 3 + 2
347 134
7) T743+3=9217 92 8 638+7=91r2 91
x 3 x 7
276 637
+ 7 + 2
283 639
9 978+5=195r3 195 10) 754+4=188 188
X 5 X 4
975 752
+ 3 + 0
978 752
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